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If A and B are the two real values of k for which the system of equations
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The number of integral values of x satisfying Sx—1<(x+1)><Tx—3 is
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If the sum of two roots of the equation x> — 2px? + 3gx — 47 = 0 is zero. then the value
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The sum of the four digit even numbers that can be formed with the digits 0. 3. 5. 4 with out
repetition 1s
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If x 1s the number of ways in which six women and six men can be arranged to sit in a row
such that no two women are together and if v 1s the number of ways thev are seated around
a table in the same manner. then x:y=
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The number of 5-letter words that can be formed by using the letters of the word
SARANAM is
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Let 7.5 and T be three non-coplanar vectors. The vector equation of a line which passes
through the point of intersection of two lines. one joining the points

@ +2b —5¢.—a —2b — 3¢ and the other joining the points —47 .67 —4b + 47 is
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If @.bande are mutually perpendicular vectors of the same magnitude. then the cosine

of the angle between Zand @+5 +7 is
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It @.bandc are non-coplanar vectors and the four points with position vectors
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The mean and the standard deviation of a data of 8 items are 25 and 5 respectively. If two
items 15 and 25 are added to this data. then the variance of the new data 1s
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The mean deviation from the median for the following distribution (corrected to two

decimals) 1s
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If a die 1s rolled three times. then the probability of getting a larger number on its face than
the previous number each time. is
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A man is known to speak the truth 2 out of 3 times. If he throws a die and reports that it 1s
siX. then the probability that 1t 1s actually five. is
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If the probability function of a random variable X is defined by P(X =k)=a k +1
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If X 1s a binomial variate with mean 6 and variance 2. then the value of P(5<X <7)1s
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Let A(2. 3). B(3, —6), C(5. —7) be three points. If P 1s a pomt satisfying the condition
PA? + PB? = 2PC7. then a point that lies on the locus of P is
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If the coordinates of a point P changes to (2. —6) when the coordinate axes are rotated
through an angle of 135°. then the coordinates of P in the original system are
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If the portion of a line mntercepted between the coordinate axes is divided by the point (2. 1)
in the ratio 3:2. then the equation of that line is
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The equation of the line passing through the point of intersection of the lines 2x +1v—4=10.

x— 31+ 5=0and lying at a distance of /5 units from the origin. is
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The equation of the line joining the centroid with the orthocentre of the triangle formed by
the points (2. 3). (2.-1). (4. 0) is
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The lines represented by the equations 23x> — 48xv + 317 =0 and 2x + 3y + 4 =0 form
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If the line x + 2v = k intersects the curve x> —xv + 12 + 3x + 31— 2 =0 at two points A and
B and if O is the origin. then the condition for |4OB =90° 1s
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If 212 + 3x1v — 237 = 0 represents two sides of a parallellogram and 3x + v+ 1 =0 is one of
its diagonals. then the other diagonal 1s
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If the lengths of the tangents drawn from P to the circles 2% + 12 — 2x + 4y — 20 =0 and
x*+37 —2x — 8v+ 1 =0 are in the ratio 2:1. then the locus of P is
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¥+y—-2+4y—-20=0&00050 x + ¥y -2 —8y+ 1 =0 SHmos P soodd HS
Hgowe FdIHe dME 2:1 wond, P @ng), Hothdgo

Options :
2 +924+2¢+12p+8=0

1.
¥+ —2x+12+8=0

x2+3?+2x— 129 +8=0

2+ 2y —12v+8=0



Question Number : 50 Question Id : 4557343730 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The equation of a circle touching the coordinate axes and the line 3x —4v=121s

ad,

AErHsEos $H803 3x — 4y = 12 B H80B 2.8 SiFo JDEGDHN
Options :

| K437 +6x+6y+9=0

K+l +6r+61r-9=0

[

CH 1 —6r—6r+9=0

L

2+ —6x—6r—9=0

Question Number : 51 Question Id : 4557343731 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The pole of the straight line 9v + v — 28 = 0 with respect to the circle 22 + 217 —3x + S5v—7=0 1s

20+ 27 30+ 5y —T7=0 =3 5)%o Sy, I +y—28=0 554Bp B0, EHE0
Options :
L (3. 1)
,, 3.-D)
3. 5 4)
g (4.-8)

Question Number : 52 Question Id : 4557343732 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
The point of intersection c-f the direct common tangents drawn to the circles

{;._—+11)2+(‘-.1_2}2:225 and(‘t—lll_ (v+2)" =25is

225 S0 (x—11) +(y+2) =25 S)gsvok AOS B

s
)
L?J-"
E‘.ﬁ-
cz»
E
&
B,
&)
ok
oA
@ i
L]
e,
Lt
&

Options :



Question Number : 53 Question Id : 4557343733 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In List-I. a pair of circles 1s given in A. B. C and in List-II. angle between those pair of
circles 1s given. Match the items from List-I to List-II.

erfar-] 6570 A, B, C 265 0.8 2346 O\

g:@_‘_, 0 R, @der-ll &, 8 SHEe ad HGE fo
§mo aﬁgé@o&. i@ -1 56 £330

erda-11 o578 8¢ ediicthod

List-I List-IT
i1 erdia-lIl

A (x—-27+y2= I) 90°
(x—2)+ (v— 1)— =1

B) x2+12-6x-6v+9=0 Il 135°
N+ —dx+4y-9=0

C) 2+32+4x—14v+28=0 Im) 60°

P+l 44y —5=0
IvV) 30°
The correct matching is
HOGHS &6

Options :



A B C
3 10 I I\

A B @

IV I I

Question Number : 54 Question Id : 4557343734 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
- - : - By g - 2 2 . -
If the radical axis of the circles x> +12 + 2ex + 2/ +c=0and 2x> + 217+ 3x + 8y +2¢=0
. 3 %
touches the circle x*+ 3=+ 2x + 2y + 1 =0, then

T T . 1 o o —= a
»+ry+2x+2v+ 1 =0 Sadn é@%é}oa. et
. * o=

— [

Options :

. 7
g=—orf=2
4 wf

%, ) P
2 —= iy =12
o4 i
s
L
9 4
3
g fd
3 4
2
§:§01‘f=1
2.
2= gy =571
5 ;
4.

Question Number : 55 Question Id : 4557343735 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



The line v = 6x + 1 touches the parabola 12 = 24x. The coordinates of a point P on this line.
from which the tangent to ¥ = 24x is perpendicular to the line v=6x+ 1. is

BE¢Bm v = 6x + 1. do-Secho 17 = 24x % BPB0HHHB. & D6V NG &) 8
Do PHod, ¥ =24x8 find SNGBw, v=6x+ 1 H5§0p8s eomon &o8, PRErosen
Options :

Mt

, (-2.-11)

5 (6. -35)

a:d TR A

Question Number : 56 Question Id : 4557343736 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A point on the parabola whose focus 1s S (1. —1) and whose vertex s A(1. 1) is

2h

S (1, -1) &dmd, A (L, 1) 8850mS HORS HordechHo He &l Hohd

Options :

(5]
F oo |
ey
.
-3
e’

Question Number : 57 Question Id : 4557343737 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



An ellipse having the coordinate axes as its axes and its major axis along Y-axis. passes

2
through the point (—3. 1) and has eccentricity \/; . Then its equation 1s

=2

QErHE exre egren 08 odnod, Y-uidy Joad 63 =850 do wl 84 S58dn

) &l
. 2 :
(3. 1) Dothd Mom dr, &8)otdd e 00 woh. widyd o LY Sydo
Hangtann
Options :

| 32+ 52-15=0

, Sx24+32-32=0

Question Number : 58 Question Id : 4557343738 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The product of the perpendicular distances drawn from the points (3. 0) and (—3. 0) to the

t tfﬂlr-1+£:14i3%
dangent o 1S elipse 36 27 d . 7 | 15

2 o2 i 9 B

A 1 2 ] : i

s e SN a0 & 2, } z ﬁi AR o} 50 3. 808 =

3 -+ 1 rfjdf'r S00:508 ‘k - ‘ ﬁ.DCiJf}j 5% Atded \Iﬁéﬁgﬂé . L Cl'_} aBadin (-3 D}

HochHe Sood DN sondrdioe E_}%a’m
Options :

1 36

n 27

Question Number : 59 Question Id : 4557343739 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



The equation of the hyperbola whose asymptotes are the lines 3x +4y—-2=0.2x+y+1=0
and which passes through the pomt (1. 1) is

3x+4y-2=0.2x+y+ 1 =0 o3 dpad «lod HfdpeoT 84, (1. 1) DodHrhom
FAh wdHodeohHo GBNE), HESR0

Options :
6x2+ 1lxy+ 472 —30x+2v+7=0

. 62+ 1lav+ 42 —x+2v-22=0

652 + llxy+ 42 —x +2v+22=0

62+ 1lxy+ 47 —3x—Tv—11=0

Question Number : 60 Question Id : 4557343740 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the orthocentre and the centroid of a triangle are (—3. 5. 2) and (3. 3. 4) respectively. then
its circumcentre is

X

nE (@ghzdn @nE oowsodsan Hoodn Somerddnen Sdm (3. 5. 2). (3. 3, 4)

L=

woN®, P8 HOBoIHD

Options :

| (6.2.5)

(6.2.-5)

L2

(6.-2.-5)

Question Number : 61 Question Id : 4557343741 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



A Plane cuts the coordinate axes X, Y, Z at A, B, C respectively such that the centroid of the
AABC s (6, 6, 3). Then the equation of that plane is

ABC ggbeo &@n¥) Sols edo (6, 6, 3) eddhgiriurmr, a8 oo H6rHs epen X, Y, Zokh
S55m A,B,Co 58 podiFod. el & 0o GB1E) Han8sea0

Options :

| X+y+z-6=0

, Xx+2y+z—-18=0
2x+y+z—18=0

X+y+2z-18=0

Question Number : 62 Question Id : 4557343742 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the foot of the perpendicular drawn from the origin to a plane is (1. 2. 3). then a point on
that plane 1s

Sorodotid) Sod wf derd8 AOH vonardo (1.2, 3) wond, = oo o o8 Hothd

Options :
1. (3.2, 1)

£.2.9)

L3

3, (7 3s=1)

4. (6.-3.4)

Question Number : 63 Question Id : 4557343743 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



If [x] denotes the greatest integer < x. then

.nffsc._z{[l 1} |:q 1J+|:3EIJ+...+[H2,TJ} —

il

[:y} wXsh X §5) I8 8 50 H0d Sroosed) Srdbyed,

£3

e ) -

Options :

k| =

Luliﬂ':

Question Number : 64 Question Id : 4557343744 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
1— \E SI X : T

 ifx#r—
T—4x '

If a function fdefined by f(x) =+
k Lifx=—

: < = dF
1s continuous at ¥ = 1 then k=

f]—ﬁsin:r T

. Ay g :u:.I’I i&?oogsﬁiﬁ:f;’a}
f{‘-} =g A X

-
ke . X=— 2o0sHvE
i - - P
M AdcDoDdS fod Edoto X = G ©IiNNRS, 209 k=

Options :
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Question Number : 65 Question Id : 4557343745 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

B g . Ee =0 Vs
The derivative of £ (x) =x™% ¥ with respect to g(x)=Sec > ‘ | 15

bt ?.-J-d _1 )
s g o= ( 1 ] . N — T = an o o
g(x)=Sec | i | Syers, f(x) =x FBwE), eSEossD
\Zx"=1)
Options :
1 o Tandx| logx Tan lx
; =% X 3 ) i =
= 14x X
1 2

——al—a J‘Tm_lx[log{’fau_lxl+:a'(1+.1‘2]Tan_lq

[

logx Tan x|
= 3
(i Ry

3. \/1 AT

—2Tan lx

-1
1 5 1 ! logex Tan “x
) | T J_Tan X 2ok

2z 1+x x

Question Number : 66 Question Id : 4557343746 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



I

mlw

2 {
: dy .

If x=3cos tand v = 4sin £, then — 2 at the point (xg.¥g )= I

dx~ \

-

x=3cos f. v=4sin t w013, (Xg.¥g) —[— -.-v']_'a.lec:ﬁ H G =

Options :

42

9

|
"
5

s
L)
-2

[
[w.s]
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Question Number : 67 Question Id : 4557343747 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

2 2. a—>b X d
Ify :1—}T311 1 tan— |, then : -
Ja — b2 a+b 2 dx*| =
g
N
- 2 L
2 i a—h X : dcy
L Tan ! tan— | mwonI. -&f;’:jr:-i:ﬁ 2 =
f}'z _bz a+b 2 dx= ‘{'—E
=2
Options
b
2
L 2a°
b
Y
7,6
25



Question Number : 68 Question Id : 4557343748 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

1 2 « I . ! . : 3
If f(x) =23+ ax’+ bx + 5 sin’x is an increasing function on R . then

= Gy RIS 2 e i A, Rt = o B o
2 f(x) =2+ ax? + bx + 5 siny e.§ =650 HHhoHTos, vk

Options :
y a2—3h—-15<0

A2—3b+15>0

[

;3 a2—3b-15>0

a2+ 3b+15=0

+=

Question Number : 69 Question Id : 4557343749 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The approximate value of cos31°1s (Take 1°=0.0174)

cos31” dng) eeronod Jend (1°=0.0174 G508 0d)

Options :
| 0.7521

0.866

[

5 0.7146

Question Number : 70 Question Id : 4557343750 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If x and v are two positive numbers such that x + v = 32. then the munimum value of
a

] 7 -
X7 318,

x+y=32 aglyg M X, ¥ 03 Bodd Gard)§ Hopgen Lo )@, X +1- GI0E), Sz D0

l:if‘u
@

Options :



;1024

Question Number : 71 Question Id : 4557343751 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Ly
2343 - .

The constant ‘¢’ of Lagrange's mean value theorem for the function f (x)= e defind
4y —

on[l.2]is

" 5 i T o
[1. 2] > adadmns flx)= e vl PBosrds, Byrod Jodgd dend darodo
F i 1y —

Options :
1+4/15

-

L. 2

1+421
1

s | th

[ N Y

Question Number : 72 Question Id : 4557343752 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
s sin2xdx 7

=Tan"'(f(x))+c. then f

"..-hl|h1

LY

J . 4
Sl X+COos X

|

¢

s sin2xdx

Y sin* x+cost x

= Tan™? (f(x))+ec. wond, f

u.-|
"

Options :
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Question Number : 73 Question Id : 4557343753 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

j T
| logx—1
J —————| =
. 14 (logx)” |
Options :
logx
e
i 1+ (logx)”
£ 4.
B o
7 X =1
1- 3
& 7 +{j
3 1+(logx)”
_1'
+c

1+ (log :'{)2 |
4

Question Number : 74 Question Id : 4557343754 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

J" ('?I.T _
. o
O 4317 +2x
Options :
x+2
log|x|+lﬂg +¢
L - il

i .10g|x| —log|x + 1| —|—10g|x+ 2|+r



é[lgg|1‘| + lcrg|r + 1| - log|x - ZH +c

1 | ‘1‘3 +2x
— log
=

2| (a+1) |

- o

Question Number : 75 Question Id : 4557343755 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

: i
Fornz22. It I, = fsec” X dx, then I, —éfz =

: ) 5
o — -
nz28§, I,= J seC Xy ©onE, f4——3 I, =

Options :

.
| seC xfanx+c

1 3
—Sec” X tan X+c¢

M

-
—seC X tanx—+rc
43

1
Tlag|sec X+tanx|+c

+=
i

Question Number : 76 Question Id : 4557343756 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

;
lim I ﬁ+3\/§+3\/§+---+?!~f§ i)
: =

H—>0o 3

=
=
Options :
1.1

ko | wa
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Question Number : 77 Question Id : 4557343757 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

% f(x)

Co—3x)
3

Y=

=

Options :
2a

Y o
(4

1, 2
o

3. 3
&

4.6

Question Number : 78 Question Id : 4557343758 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The area (in sq. units) of the region bounded by the X-axis and the curve =1 —x— 622 is

(5. oS0déye5T)
Options :

125
| 216

—
[
h

- |

Lh
f—
-2
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Question Number : 79 Question Id : 4557343759 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

It m and n are respectively the order and degree of the differential equation of the family of
parabolas with focus at the origin and X-axis as its axis, thenmn—m +n=

Sore) Hochd) HG D0 EOA Sboin X-wgd)) Tl g, =Ednm EOnS dordedire
EaE330200 -;ﬁ}:é&r wSes AEdodn HBSrIN by S668 SN m SHoch n
wonAE, wnd mr—m+n=

Options :
11

24

(]

Question Number : 80 Question Id : 4557343760 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

b

X X

i:}nﬁ':(} 1S

The general solutionof | 1+e* |dv+e’ | 1-
L3

g

f %) R
i "l & _
1+e¥ |dx+e’ [ 1——}({1-‘20 B0E), TP TS5
| 1 J
Options :
¥

1 yer k==
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Question Number : 81 Question Id : 4557343761 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two resistances 60.36  and 30.09 Q are connected in parallel. The equuvalent resistance 1s

Bod A8 ren 60.36 Q 50cin 30.09 Q H35rodbomr 098 20806 350

Options :

| 20+ 0.08Q

0.06 Q

o

, 20
3 20+ 0.03Q

4 20 £ 0.10Q

Question Number : 82 Question Id : 4557343762 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Assertion (A) : The velocity of a projectile at a point on its trajectory is equal to the slope
at that point.

Reason(R): The velocity vector at a point is always along the tangent to the trajectory at
that point,

O3do (A):  (BEH8 Do &8 Do 5 HEDE0 Bng Ao & Dok 5¢ He
aendy Bddrdo.

60 (R): 8 Do) 5§ Ho 3 6% Poirod 708 = Hodhd 5¢ HEoy
a0 &0odnod,

Options :
Both (A) and (R) are true and (R) 1s the correct explanation of (A)

| (A). (R) o Dodr Hdgn doboin (R). (A) & 8595 D58

Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
, (A) (R) e Doty Hegidn s (R). (A) & 388 988 52

(A) 1s true but (R) 1s false
: (A) 2dgan 50 (R) eddgan

(A) 1s false but (R) is true
s (A) e35:50 570 (R) H&gsn

Question Number : 83 Question Id : 4557343763 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A body is projected from the ground at an angle of tan™ [ % ] with the horizontal. The ratio

of the maxiumum height attained by it to its range is

= i, ] | = 8 ) 5 5 ad o, .
58 30D grdh Drd ok §8s SSrodiod tan 1[ = l §0& HEHo BoHadss. vh
L A

arofisd M83) iy S8ty A arge BN IS

Options :
1 8:7

3_4:7'



4_1:-.-'r

Question Number : 84 Question Id : 4557343764 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A body 1s projected with a speed “u’ at an angle *0” with the horizontal. The radius of curvature

: : I - 1 T . ;
of the trajectory when it makes an angle l bt I with the horizontal 1s
2 ]

(g - acceleration due to gravity)

§@e Sdroddod ‘0 Fwo daindr ‘U S&F° a8 S0P BENo BT, SHY HEEH
o P oF B \ e Wy e At > -'
§6r SSrodfod | — | Fodn DansdHd 5§ SEe argarddn
~ ot
Lok

(g - thdadg Sidcoo)
Options :

u’ cos” Bsec’ ( 9 & )

1. \Eg

u?cos? Bsec’ (%)

5 2g

§ o 0 | A
2u” c053 Bsec” ( S A )

3, 2
" " g A
u - cos” E}sec?‘ ( 6 A ]

4 g

Question Number : 85 Question Id : 4557343765 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Sand 1s to be piled up on a horizontal ground in the form of a regular cone of a fixed base of
radius R. Coefficient of static friction between the sand layers 1s g. Maximum volume of
the sand that can be piled up in the form of cone without slipping on the ground is

Question Number : 86 Question Id : 4557343766 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



A block of mass 2 kg 1s being pushed against a wall by a force F =90 N as shown in the

figure. If the coefficient of friction i1s 0.25. then the magnitude of acceleration of the
block 1s

o
[
Il
—
=
;
t
e
m-
B
t
1
=]
I
Lh | e
- -

2 kg |$&5g078 fo a8 B3 90 N wood® a8 A& S56080mr HLoS” Sraanddinm

Straaddiod. Dodm oo 0.25 o0 s &an s‘jngde*ao abdro
LY =

83

: 3)
(=10 ms2) |sm37°= % J
,
0
s
/
b
4
E s
/
37° ;
L
L
Options :
i 16 ms™
5 8ms™
3 38 ms—2
9
4 34 ms

Question Number : 87 Question Id : 4557343767 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A body of mass 2 kg thrown vertically upward from the ground with a velocity of 8 ms™!
reaches a maximum height of 3 m. The work done by the air resistance is

(Acceleration due to gravity = 10 ms™)

8 ms~ 308 erdy are $10& §&evomomr 28 DD628S 2 kg BS5g078 o 2.8 3D
DOH H0A I8y 3 m. md AFFo SO 8BAS B
(Koddg oo = 10 ms™)

Options :
1 417
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3 647

Question Number : 88 Question Id : 4557343768 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The system of two masses 2 kg and 3 kg shown in the figure is released from rest. The
work done on 3 kg block by the force of gravity during first 2 seconds of its motion is
(g=10ms™)

BE06° SrdS 2kgDodosn 3 kg BSgordHe S50 JorsPs Sod 5698, 3kgHIyp
hde(Edn o o° S50 Fnddd 2 DESwes IHS 5D (=10 ms—>)

Options :
1207

30J

L3

5407



Question Number : 89 Question Id : 4557343769 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

A rigid metallic sphere 1s spinning around its own axis in the absence of external torque. If
the temperature is raised. its volume increases by 9%. The change in its angular speed is

Options :

—_

La

L

increases by 9%

0% 23t

decreases by 9%

increases by 6%

6% S

decreases by 6%

6% S5

o0 wgo Hdomr wdySine B

%5H0BrR0 9% DOAS FEH DN, Ehoh 58

=1
)
—ik

=
o
= = e =

96, SAHSD

FO

Question Number : 90 Question Id : 4557343770 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical



Two spheres P and Q. each of mass 200 g are attached to a string of length one metre as
shown in the figure. The string and the spheres are then whirled in a horizontal circle about
‘O’ at a constant angular speed. The ratio of the tension in the string between P and Q to that
of between Pand O is

(P 1s at the nud point of line joining O and Q)

89§ ¢ 200 g BSgoed Ko P HBoin Q »3 Botkh Fed) wf b &dd He oo
Db0e” drad Hdor ot o oord) Soboin Fed) et §8a Jdrodd HFos™ ‘O
sprdormr RO ghoh Sa8° ES P.Q & Hofly mrlos R Shg88 P O o Sly ordos™a
55880 Mo JE

(O Sr8080 Q &by 87 B Sody Hochh 34 P serch)

Options :

1

1 2

b2 | s L |

— | b

Question Number : 91 Question Id : 4557343771 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The potential energy of a simple harmonic oscillator of mass 2 kg at its mean position is
5 I. If its total energy is 9 J and amplitude is 1 cm. then its time period is

£n
T
(F,
&
A
o
Br
8,
_h
|
4
2a

Options :



n

Question Number : 92 Question Id : 4557343772 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Three masses m. 2m and 3m are arranged in two triangular configurations as shown in
figure 1 and tigure 2. Work done by an external agent in changing the configuration from
figure 1 to figure 2 1s

Sordhy (BSgoriben m, 2m $o0oi» 3m Hoo 1 Sboiwn Hio 285 Sred Ao Boh
Behers 0 wibied” o). & BigorHe wHdEdH SLo 1 Sod Hbo 28 Srdydes®

B nd  adoo

.8 erirg 52080 DS Hd

Im 2m
a a
a
m - - 2m 1 3 3m
figure 1 figure 2
Options :
6Gm”~ 5_ 6




Question Number : 93 Question Id : 4557343773 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two equal and opposite forces each F act on a rod of uniform cross-sectional area “a’ as
shown in the figure. Shearing stress on the section AB will be

4
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Question Number : 94 Question Id : 4557343774 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A body 1s suspended by a light string. The tensions in the string when the body 1s in air. when
the body 1s totally immersed in water and when the body 1s totally immersed in a liquid are
respectively 40.2 N. 28 4 N and 16.6 N. The density of the liquid 1s

‘|

BI85 o0& i R {fﬁ@éﬁ-ﬂﬁ&&:&?ﬁ&. 5D moHeT &HD

a_

S0RASHE 50003 From o8 (BHoeT SndASHG &l S5 ghen Sddm 40.
28.4 N H8030 16.6 N. (30 Gng) drod



Options :

, 1200 kgm™

., 1600 kegm™
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Question Number : 95 Question Id : 4557343775 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Steam at 100 °C i1s passed into 1 kg of water contained in a calorimeter at 9 °C till the
temperature of water and calorimeter is increased to 90 °C. The mass of the steam condensed
is nearly

(Water equuvalent of calorimeter=0.1 kg

Specific heat of water = 1 calg1°C

Latent heat of vapourisation = 540 calg™)

100 °C 58 o &5 D8O 9 °C HE 365°0 HLde® &8) 1kg 16550°38 o WSS 08 A
28050 3e5°0 Dotadd GaES 90 °C 287 H05 HoDdadSh. QD550 BodS O esd

B0E), B&g0°8 Ddrdar

(8e5°0 aodath me dhergoso =0.1kg

HE5 D3FRSH = 1 calgoC!

D8 erinasss HEgSn = 540 calg™)
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Question Number : 96 Question Id : 4557343776 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Three very large plates of same area are kept parallel and close to each other. They are
considered as ideal black surfaces and have very high thermal conductivity. First and third
plates are maintained at absolute temperatures 2T and 3T respectively. Temperature of the

middle plate in steady state is

QAT FTOLENOOD SDADY) Sord W&V Heden D00 Hdrosdorr 28T OEES
GSHSM o700, Jofen wEiHE eRdrdan SO0, 68 S ealdorad Eafganow.
Bo0csdl Hadotn SurdS dose YO DS eI Pder Shdm 2T Sododn IT. Josd Q&s*
5655 HOS SAS | |
Options :
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Question Number : 97 Question Id : 4557343777 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A thermally insulated vessel with nitrogen gas at 27 °C is moving with a velocity of
100 ms™, If the vessel is stopped suddenly. the percentage change in the pressure of the
gas is nearly

(Assume entire loss in KE of the gas is given as heat to gas and R = 8.3 Jmol7'K )

27 °C 8¢ flo JEFeS TodnYd wd) o8 ol JI6°¢E g 100 ms 3o&* $O%06.
¥ PEH e «hd, Touadsos® 91 Srdy) Tdo HSrdHm

(rabng) Ae=48s” $87 Bodo S0 &1 ErHods® olnHB RBgGESEBRE HBW $H00%w
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Question Number : 98 Question Id : 4557343778 Question Type : MCQ Display Question Number : Yes Single Line Question

Option :

h

No Option Orientation : Vertical

Match the following :

Bok

B)

O

D)

E38) el doedIan

List-1

erdiar -1

Zeroth law of Thermodynamics
&RN88 rargos Johoaw
First law of thermodynamics

S RAaE I DoSBrBM
Free expansion of a gas

03009 'foﬁga;_ DELEAHY

Second law of Thermodynamics

SRNSE 00dd D030

The correct answer 1s
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1)

1)

V)

List-11

ardie - 11

Direction of flow of heat

) Do &

Work done is zero

20AS 5D drdgo

Thermal equilibrium

=3 ﬁé&@%&

Law of conservation of energy

¥ Qdgdc Do



Question Number : 99 Question Id : 4557343779 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

For a molecule of an ideal gas. the number density is 242 ¥10® em™ and the mean free

e

path is cm . The diameter of the gas molecule 1s

T

BHG) TNy w@oe Dogry rolds ?_\/2_.:1[}3 cm™ S980%0 ?Jﬁﬁﬁaﬁﬁé}ﬁ%m;ﬁm
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Question Number : 100 Question Id : 4557343780 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A solid ball 1s suspended from the ceiling of a motor car through a light string. A transverse
pulse travels at the speed 60 cms™ on the string when the car is at rest. When the car

accelerates on a horizontal road. speed of the pulse is 66 cms™!. The acceleration of the car
is nearly (g = 10 ms—2)

2.8 5751 O0f H30d HBSAYo HHD o Perdhohndod. 56 VD &

o -

s &ife5® 805§ Syoso 60 cms™! 5A& $O%308. T Fod df0& §8a DIr0dd

5‘@}3 SORND B DHyods HE 66 cms teond e 5 #¢dze0 Hodrdo (g=10 ms =)

Options :
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; 6.8 ms™
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Question Number : 101 Question Id : 4557343781 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A reflector is moving with 20 ms™! towards a stationary source of sound. If the source is
producing sound waves of 160 Hz then the wavelength of the reflected wave 1s

(speed of sound in air is 340 ms™)

adom &) Jed 2dfo JH ef doddso 20 ms! Fos* £drendadih. = =hgo

160 Hz 58 ddomed &d8 35z &08 H0-8d8 Sdofo Bng), £Edondd b
(mde® 8 $& 340 ms1)
Options :

17
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Question Number : 102 Question Id : 4557343782 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A light ray mcidents normally on one surface of an equulateral prism. The angle of deviation
of the light ray 1s

(Refractive index of the material of the prism= \E )

es8 Hdoeriio |Bgharstd D480 BuE) 2.8 Tendeo eoworr 508 §6po B8k Fohds,

es 5708 88m H¥erd oo

B48 dog SEeSS fhwso = y2)

Options :
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Question Number : 103 Question Id : 4557343783 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two polaroids are placed i the path of unpolarised light beam of intensity I such that no
light 1s emutted from the second polaroid. If a third polaroid whose polarization axis makes
an angle 8 with that of the first polaroid is placed between the polaroids. then intensity of
light emerging from the last polaroid is

Ip &Pdre s8O8508 Srdos” Bod FooonGed GoddHE, Dodd JoTond
By0f sPof aﬁr’géﬁ;éﬁfﬁﬁa. £ Do) FOTroNGED Dy STrdd Forrondd 85 GyerEsn

D068 Fooons GHPOegins' 0 Foo TodnSLy wHd, vpd Fooons Hod
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Question Number : 104 Question Id : 4557343784 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Two point charges are kept in air with a separation between them. The force between them
is Fy . if half of the space between the charges 1s filled with a dielectric of dielectric constant

1
4 and the force between themis F,. 1f El‘d of the space between the charges is filled with

R
. ; . ;
dielectric of dielectric constant 9. Then T I
7

Fart
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Question Number : 105 Question Id : 4557343785 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



A simple pendulum with a bob of mass 40 g and charge +2 uC makes 20 oscillations in
44 seconds. A vertical electric field of magnitude 4.2 » 10* NC™! pointing downward is
applied. The time taken by the pendulum to make 15 oscillations in the electric field is

(Acceleration due to gravity = 10 ms™)

40 g18550°8 SoBodn +2 pc edESrod hodge w8 ednetato 448ogeT 20 Foren
DS, 4.2 x 10 NC 158800 Ko o8 §8zoonom §ob8 HATS0EN) 2.8 DS
BE50d) BArions, dhgd FFos® 15 Fooen Binht i tosDs Hiy seo
(M8>8¢ Sesev0 =10 ms™)

Options :

p 30s
2 60 s
3 9@ S

4 155

Question Number : 106 Question Id : 4557343786 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A parallel plate capacitor has a capacity 80 x 10~° F when air is present between its plates.
The space between the plates is filled with a dielectric slab of dielectric constant 20. The
capacitor is now connected to a battery of 30 V by wires. The dielectric slab 1s then removed.
Then the charge passing through the wire 15

a8 Jdrodd Hofe ol Hose Sy md eHNyd &0 Sarodd 80 x 109 F &ob.
w Hofe Hds &Y BT 20 &G [oroso e el H08E Hrim Dodwdsh. =
BrdL65 advth 30 Verghts o trgom Sendadsh. dogd 608 Hodd EL3bad.
AP &HS* HHIrod dgmrado

Options :

, 12x167°C

253x 103 C

Lo

120x 10> C

[A¥]

, 456 x107°%C



Question Number : 107 Question Id : 4557343787 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Three uncharged capacitors of capacities C; . C, and C; are connected as shown in the
figure. A. B and C are at potentials V, . V, and V3 respectively. The potential at ‘O’ is

-

C; . C; 538057 C3 Erddien e Hrd) w3ddhrd Sordbids dLdne SrhHd o

§Srdy. A, Bdodoin C o 8¢ FHI0HG) H8dm Vi, V500080 V; womnd, ‘0" &

h o

2

FBY0HS

Options :
Vi NG E,
¢+ 00

VOV, 6L G,
Cit+ Cy+C5

[

V€~ V5 Co— V3 Cy
10,6,

Zero

535

Question Number : 108 Question Id : 4557343788 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



The equivalent resistance between A and B 15 6 £). The value of Ry 1s

& §oh Jwohadnes” A.B dohIe Hogy 848 H5G3n 6 Q. wond Ry Jend

1562
A s W

2R, 20 330

X

Options :

L 200

10Q
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Question Number : 109 Question Id : 4557343789 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Abattery of emf 10V is connected to a wmiform wire AB of 1 m length and having a resistance
of 10 £ 1n series with a 10 L resistor as shown in the figure. Two cellsofemf2 Vand 3V
having internal resistances 2 £ and 3 £ respectively are connected as shown in the figure,
If the galvanometer shows null deflection at point J on the wire. the distance of point
J from the point B 1s

10 Q &8¢0 e 1 m>E3S a8 868 & ABO 10 Q 98 ¢os® @he5* Heooes® Srhd
S¢tom emf 10 V fey 2.8 erg-&;*-f}ﬁ‘ £Darth. H6Hm 2 L) H8osn 3 Q&ﬁ@é-ﬂﬁ*@@.}; 2V
0oty 3V emf o Bodo Dodrad Sbod® iorhd ddom Edard. r‘FE:iEF:LD“EJE ﬁqr“i:.:

I Dot 8¢ &g wHadso drhR, Do) B Hod Hohd TH e drdo

Options :



7 50 cm

4 34 cm

Question Number : 110 Question Id : 4557343790 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two mfmitely long wires carry currents 4 A and 3 A placed along X-axis and Y-axis
respectively. Magnetic field at a point P(0. 0. d) m will be T

Bodh wdod FEHle Efen SHIT 4AD00SH Ao Jhys Pastod 0, X-ugo

soBoin Y-
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Question Number : 111 Question Id : 4557343791 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Two moving coil galvanometers. X and Y have coils with resistances 10 Q and 14 €,
cross-sectional areas 4.8%107° m?and 2.4x10~> m’. number of turns 30 and 45 respectively.
They are placed in magnetic fields of 0.25 T and 0.50 T respectively. Then the ratio of their
current sensitivities and the ratio of their voltage sensitivities are respectively.

X 58050 Y ©3 Bod $68 &y megoddde &1 SHve AFgren S6Hdm 10 Q
8050 14 Q, 8 wds’s Feorgen 4.8x107° m? H0b0sn 24x107° m?, HHé Jopg
30 SoBosa 45, DD SHdmr 0.25 T S5o8as» 0.50 T ewcfodm o o woddddy a°¢)
DegSE odyddon ING HHdasn ol FPa DHdsbion den SEHBT
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Question Number : 112 Question Id : 4557343792 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two short bar magnets each of magnetic moment 9 Am? are placed such that one is at
x=-3 cm and the other at y =—3 cm. If their magnetic moments are directed along positive
and negative X-directions respectively then the resultant magnetic field at the origin 1s

ag“a,éaréﬂ 9 Am? Efﬁjﬁ“&@é granEo ey Dodh &gg cﬁoémi@o@@@i 28 A x=—3cm

363 $38033 ROFE TIQ ¥y =-3 cm I SoT. T8 woharm o8 Eriasren SEHm &
SoBodn 20 X-Hdoed 408 SHiredoHhd 38 a8 HOE wodhar o8 BlESD

Options :
, 100T
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Question Number : 113 Question Id : 4557343793 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



A conducting rod PQ of length 1 m is moving with a uniform speed 2 ms™ in a uniform

magnetic field of 4 T which 1s directed into the paper. A capacitor of capacity 10 UF is
connected as shown in the figure. Then the charges on the plates of the capacitor are

|

Ao Herd8 vomorr, $00S A8 Ho 4 T 2888 wobhamod §gos® 1 m FéHre ws
s é% PQ 2 ms! $5as gthenthHd. 10 pF 3 g0 STHHEH HSns®

i

Srhd Do DTG wond Bardid Hofon DT

P
x . ®
Qs
3 ¥ %
g
¢ . %
Q

Options :

P q,=+80uC : qgg=-80puC
, Qu=—80uC ; gg=+30uC
qy=1+1.25uC ; gg=-1.25uC

gy, =—125uC ; gg=+1.25pC

Question Number : 114 Question Id : 4557343794 Question Type : MCQ Display Question Number : Yes Single Line Question
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T
For the ac circuit shown below. phase difference between emf and current is > radian as

shown m the graph. If the impedance of the circuit is 1414 £ then the values of P and Q are

n
Bod Srnd ac S0000S58), Jired S5 $10030 gl Parrandsy Sodg STBESn 1

B&OHD) (rHS” Srhdty ob. & Sooho @Y w580 1414 Qeond PHbdoin Q
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f i _ — X-2E0
E=£ﬁsikf(mm) i v \\—”

Options :
, 1kQ . 10uF
, LKQ . 1pF

;3 1kQ . 10mH
4 1kQ 1 mH

Question Number : 115 Question Id : 4557343795 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In a plane electromagnetic wave. the electric field oscillates with a frequency
2 « 10" 571 and amplitude 40 Vnr. then the energy density due to electric field is

(€,=8.85 x 10712 Fm™)

8 JHde DhgtohHarod SdoKost, Hgs BPo 2 x 1010 51 EahSgo HoBo%w
40 Vi L8058 H50088° Gogren B0, wond lav i S0 Seod €8 rodds
(g,=8.85 x 10712 Fm™)
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4 4.56 % 107 Jor3

Question Number : 116 Question Id : 4557343796 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Photons of frequencies equal to the frequencies of . Hp and 'HI, lines of hvdrogen incident

on a photosensitive plate whose threshold frequency is equal to the frequency of 'Ha line

of hyvdrogen. The ratio of the maximum kinetic energies of the emitted electrons is
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Question Number : 117 Question Id : 4557343797 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Hydrogen atom is in its n™ energy state. If de-Broglie wavelength of the electron is A. then
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Question Number : 118 Question Id : 4557343798 Question Type : MCQ Display Question Number : Yes Single Line Question
f 200 MeV of energy is released in the fission of one nucleus of 2

nuclei that must undergo fission to release an energy of 1000 J 1s

Question Number : 119 Question Id : 4557343799 Question Type : MCQ Display Question Number : Yes Single Line Question

If the diodes are ideal in the circuit given below. then the current through the cell is
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Question Number : 120 Question Id : 4557343800 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If a message signal of frequency 10 kHz and peak voltage 12 V is used to modulate a carrier
wave of frequency | MHz. the modulation index 1s 0.6. To make the modulation index 0.75.
the carrier peak voltage should be

10 kHz Zrasdgo, 398 F848 12 Ve o8 004 Soseq)y, 1 MHz ?J’"Fﬁg@r‘fwﬂﬁ@ T8
SSormrR) SrdgBEs ﬁoﬁ:@é"&ﬁ SHDPNoDIHE SrdgBas Srd 0.6. SrdgBad Srdd
0.75 Sddndd o8 S80MD dnd SDED

P:"”L

B

Options :
decreased by 25%

| 259, a‘gnaﬁ*fr

increased by 25%

5 253% 0T

decreased by 20%

20% pﬁr}oﬁi}

mcreased by 20%

AT
4 20% o€

Chemistry
Number of Questions: 40
Section Marks: 40
Display Number Panel: Yes
Group All Questions: No

Question Number : 121 Question Id : 4557343801 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



If the radius of electron orbit in the excited state of hydrogen atom 1s 476.1 pm. the energy
of electron in that excited state in J 1s

(Radius and energy of electron in the first orbit of hydrogen atom are 52.9 pm and
—2.18x10718 J respectively)
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ITEE RS AESrmodest sde ?{%%ﬂ"‘a QP_}{?.—-;E ggg argargo 476.1 pm ©o0STE,
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Question Number : 122 Question Id : 4557343802 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A light of frequency 1.6x10'® Hz when falls on a metal plate emits electrons that have
double the kinetic energy compared to the kinetic energy of emitted electrons when

frequency of 1.0x10'6 Hz falls on the same plate. The threshold frequency .(lz'ﬂ) of the

metal in Hz 1s

1.6x10'° Hz © F$H550 o 5508 S rdeop 58596 SmdsHchy Jogs Haads,
«3d SIrHesop 1.0x10'° Hz » FEHSE0 o 5708 56596 SToHcdhy JogsSe
r&e3g88 0430y wotnod. 5750 50 FOD0g0 (Vﬁ) Hz &¢5°
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Question Number : 123 Question Id : 4557343803 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



To which group and period does the element belong if the electronic configuration of an
element in its —2 oxidation state is 1s225>2p®3s23p®?

’ B oy R o Z e Iy
-2 )80 HAS® 50X wf Soredd Joss dognsn 15?2522p%3s23p® womns
ol [+ L&, B

ol

B Srofdn o @{rHd, o Hdohds Bodidos?

Options :
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| 200DHE 3. 57D 16

period 3 . group 17
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period 4 . group 16
3 HBcHE 4, ¢irD 16

period 4 . group 17
4 DOCHE 4, (=D 17

Question Number : 124 Question Id : 4557343804 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which set of the following molecules has only one lone pair of electrons on their respective
central atoms?

& 1§06 wenHo Shded” BIS® Howohd ol HiSraHod)tiD &8 af 2000 ad

WO ErR) w0’
(-8

a) SO, b) XeF, ¢) PbCl, d) SE, e) CIF;
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XeF, 1s square planar where as CCly 1s tetrahedral because

XeF, t5hdd dddeod s, CCl 380 P0hoe5* S totron. B8 s*d0o

Options :
In XeF,. ‘Xe’ is sp? hybridised and in CClg ‘C” is sp3 hybridised
XeF4 e5° “Xe” sp? H0£6580065°5, CCly 5° ‘C” sp? Ho8688m0e5* Godbo

In both XeF4 and CCly the central atom is sp3 hybridised
XeF4. CClyBododdes® ol S8 sp? Ho8bgdmoeT Soido

In XeF,. ‘Xe’ is sp°d? hybridised but due to the presence of 2 lone pairs of electrons
shape is square planar whereas in CCly ‘C is sp? hybridised
XeF4e5%. ‘Xe™ sp3d? H08888m0 Toh, Dok »odd sobe JoEs woddo S0

B&0E ddde wEBS dodm CClLe* ‘CT sp?Bo8bidmos® Godiio Sob

Xe 15 a noble gas. whereas C is a non-metal

Xe & aroing), C S ar0

Question Number : 126 Question Id : 4557343806 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

16g each of H,. He and O, are present in a container exerting 10 atm. pressure at T(K). The
pressure i atm exerted by 16g each of He and O, in the second container of same volume
and temperature is

3686 16g fio Hy. He. O o0 T(K) 88 a8 g™ 10 atm D850 Send@DS, @od Hod
HOEr0 Ko Dofdd FES” »B &S S8 86 16g e He. Oy o0 Senrf@d hidSo
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One litre of 0.15M Na,SO; aqueous solution 1s mixed with 500 mL of 0.2M K,Cr,O4
aqueous solution in acid medinm. What is the number of moles of K,Cr,O5 remaining in
the solution after the reaction?

2.8 2bd 0.15M Na,SO; BOTSrd), 8y ofrsgos b 500 mL 0.2M KyCryOy
2o (508 SO M. Hdg I wond $6rd T MAd &8 KiCrnO;drde
RDoPg HOH?
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4. 0.05

Question Number : 128 Question Id : 4557343808 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

From the following data

CH; OH ;) + %Oz(g_a — CO,(4)+2H, Oy ..&r H° =—726 kImol !
.HE(E}+%DE(E} —H, 0y : A, H® =286 kJmol ™'

'c{gmphimﬁ O,(g) = COsgy : A, H* =-393 kImol ™

The standard enthalpy of formation of CH; OHy; in kImol ! is

% 8ob Seroge Soon)
I« |

1 3 . o -1
£ H3 OH{@} +EDZ{"F} — CDZ{.{"}-’_ ZHZ D{{J) % ﬂr H =-726 k Jﬂlﬂl

_ 1 G _
Hyyt EOEEFJ —H, Oy : A, H* =-286 kTmol

C o5yt Oa(zy = COx(ry 1 A, H* =393 kJmol ™

CH; OH ;) @dro Sodhm Jody kTmol™! exe5°

Options :



Question Number : 129 Question Id : 4557343809 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

At 1000 K. the equilibrium constant. K, for the reaction 2NO Cligy = 2NO(y+ Cly gy
is 4.0x10 % mol L. The Kp (in bar) at the same temperature is
(R=0.083 L bar K- mol!)

1000 K 58 2NOCl(,y = 2NOy+Cly) 3658 $eys Jooso,
K =4.0x10% mol L™\, «3 & 5§ Ky (bar 0e5%) (R =0.083 L bar K™ mol™)

ErTa

o0

Options :
i 3.32x10°°

(Y]
Lad
L]

<J
';
5

i
Lo
]
-2

/

i

b
(Y]

Question Number : 130 Question Id : 4557343810 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the pK, of acetic acid and pKy, of dimethylamine are 4.76 and 3.26 respectively. the
pH of dimethy]l ammonium acetate solution 1s

I8 B850 pKy, BES = pKpen 56:5m 4.76. 3.26 ©onss’ Bangd ©370090

[
<
=l

¥



4. 8.5

Question Number : 131 Question Id : 4557343811 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which of the following statements are correct?

a)  NaH(s) reacts violently with water to form» NaOH and H,
b)  An example for electron rich hydride 1s NH;

¢)  Nickel forms saline hydride

Boh DSCOS® HOINSD DD?

a) NaH(), H&3&° :Jiﬁéaéoﬁ 8550l NaOH 0803» Hy i Qd&d}ﬁ}ﬁa

[ Q L -

b) QE}L!:F‘E@J HENGMT Ko 1’-‘-‘@5& NH; .8 &orsordo

c) DB B _g{u_ﬁ_-iﬁ} Bé&d}ﬁ:«‘&)
Options :

p a.c

7 l’h C

; a. b.c

Question Number : 132 Question Id : 4557343812 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which of the following nitrates on heating does not give its oxide?

i
3
en
]

feul
ik

e
=
&
|
o
ek
:.T' Lal
2

i
g&.
|
e
5__2]
s

Fotl
=
oA
(]

]
£e

Options :

| LiNO;

NaNO;

L-2

- Ba(NO3),

(4]

 Be(NOs),

Y

Question Number : 133 Question Id : 4557343813 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



BF; reacts with NaH at 450K to form NaF and X. When X reacts with LiH in diethv] ether,
Y 1s formed. What is Y7

450K Eﬁcﬁa, NaH & BF; 155553“0& NaF S08a5» X e ﬁ-ﬁx’_’)ﬂ{}&. X &0 Eé—"@@ 5665
LiH & J$6gmraosnd Y a8 y@ob. Yae?
Options :

i LiBO,

1i,B,0;
LiBH,

B,H,. LiH

Question Number : 134 Question Id : 4557343814 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : [SiFg)* is formed but [SiCls]*~ is not
Reason(R):  Electronegativity (EN) of F is higher than EN of C1

DFSo (A): [SiFg]* 28)%re08 570 [SiClg]*DdyeesH
s*dao (R): F 3n08), drsadchgar# 88 (EN), Cl B8, EN €08 2895

Options :
Both (A) and (R) are correct and (R) is the correct explanation of (A)

| (A) H80d» (R) Bodsr 585D 56050 (R). (A) & 888 D580

Both (A) and (R) are correct but (R) is not the correct explanation of (A)
, (A) 80850 (R) &0 Bodr 5850 522 (R). (A) 8 $50:5 I8 s

(A) 1s correct but (R) 1s not correct

, (A)5p56 50 (R) 5356 566

(A) 1s not correct but (R) 1s correct

, (A) 5056 5760 520 (R) 5058

Question Number : 135 Question Id : 4557343815 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



The environmental friendly chemical now-a-days used for bleaching the paper in the presence
of a suitable catalyst 1s

HE Fere” seheros Dddo Boserds B85 t—bﬁﬁé Dgoey* SHErHond HorgSde

L

Options :
Chlorine

g8
Sulphur dioxide

Send @ F_—“EJE
o A K

Hydrogen peroxide

TR DUBE

Bleaching powder

atioss f,:ijnga

Question Number : 136 Question Id : 4557343816 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The TUPAC name of the following compound is

§ob HaneHo dng) TUPAC s=Ho

/F\/\/ el
Options :

5 - Cyanopentan - 2 - one

| 5 -508rd R8s -2-65

5 - Oxohexanenitrile

5 - =8yTR)I3BS

1

4 - Oxopentanenitrile

-\._)Il

a__

4 - 8 20HST B



2 - Oxopentanenitrile

. %gjﬁmaﬁ;—gh_@ﬁ

Question Number : 137 Question Id : 4557343817 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify the correct statements from the following

a.  Petrol and CNG operated automobiles cause less pollution

b.  Alkanes having tertiary hydrogen can be oxidized to alcohols by KMnO,
¢.  Methane can be prepared by Kolbe’s electrolytic method
d

Alkyl chloride on reduction with zinc and dilute hydrochloric acid gives alkane

808 rdde5” BDBGLS Db Mhbodod

a S HHdas» CNG & 568 sif'sngdden $8)5 senigo $daAZon

P

b. BN TE B &) uT) Sen KMnO, & w8800 Bod e FHes) BT 0m

C. WBPID FB) JdghiInm HGE oo SoSrdd Dosbsyy
B A o ™ ™

Ly

d %) S50k 20§, Hae THET0S w0 Hogoss” §oHEdno Bob ST S 6YHHI0H

Options :

1 b.‘:.d

a.b

13

a.b.d

4 C.d

Question Number : 138 Question Id : 4557343818 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

What are X and Y 1n the following reaction?
Bob w$5dges® X Ha0a50 Y en 2D?

{1} 3
—2- = M
Pent— 2 —ene @ Z/H, XY

2083-2-40

UI

X Y
Options :



' CH;CHO CH;CH,CHO

, CH;CH,CHO CH;CH,CHO
5 CH3CHO (CH3),CO
, CH;CHO CH3CHO

Question Number : 139 Question Id : 4557343819 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The total number of body centred lattices possible among the 14 Bravais lattices is

14 d5re 0D mrosos” Soddhd wodiBofid masen

Options :

2
], =8

+=
L)

Question Number : 140 Question Id : 4557343820 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The measured osmotic pressure of a solution prepared by dissolving 17.4 mg of K580, 1n
2L of water at 27 °C is 3.735x10-3 bar. The Van't Hoff factor is

(R=0.083 L bar K- mol-! : atomic weights K=39:5=32:0=16)

27°C 5, 17.4 mg K80, %) 2L H86° §8n0sH D6)85 5nd SO05 SroHsce
5553 3.735%1073 bar. otrD Mo Jos? (R=0.083 L bar K-! mol! : 38570
goren K=39:85=32:0=16)

Options :
| 2.84

2.3.0

I3
(5]
-2



Question Number : 141 Question Id : 4557343821 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Dissolving 120 g of a compound (mol.wt = 60) in 1000 g of water gave a solution of
density 1.12g mL-1. The molarity of solution is

120 g 3301850 (=eerdo = 60)5 1000 g 8535 §8A00SH @ 1.12 gmL-1 Frods Ke
Erd0 IHR0B. & FH0 Ireardd

Options :
L 1LoM

Question Number : 142 Question Id : 4557343822 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

When an aqueous solution of CuCl, is electrolysed using Pt inert electrodes. the reaction
at cathode and anode respectively are

CuCl, zerdao Pt ad Qe_‘,@’f God® Dghiahn duSHvd e, oSf6e ¢ Sdge
Shdr (s=do; 1= g= o ; ag= &)
Options:
= . —4e +
1 4H D{‘r}4} H—{ )+4OH{ag}‘ ZHEDU}—}'OEEEJ +4H (ag)

2 e Lo —de +
200" (gq)——>2Cuy) 1 2H0() ———0, . 4H (5g)

24 +2e . = —Je
Cu {HQ'} 4}{:‘11{5) k2 Cf{ﬂq}4} sz{g}

+2e” —
2HyO¢y ———>Hy, +20H 5y 1 201 (uy——Chy

Question Number : 143 Question Id : 4557343823 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Thermal decomposition of HCOOH 1s a first order reaction and the rate constant at T(K) 1s
4.606x103s7!. The time required to decompose 90% of initial quantity of HCOOH at
T(K) in seconds is

HCOOH &3 a50rfo &8 @5 (5708 S4g. T(K) NG & wdg Fe1-5% Qo080
4.606x103s71 HOJJPS@_E T(K) $¢§ HCOOH esdogf H8&8r0 90% HDrHid0n Bodmris
58 sroo Eogs” Josk?

Options :
1 100

500

L2

3. 1000

Question Number : 144 Question Id : 4557343824 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which one of the followimg statements is mot correct?

& Boh o35t b HODS Db TE?

Options :
A muxture of dinitrogen and dioxygen at room temperature is an example for aerosol

IR, Bufipdo HiFso 16 IS 5§ AGTTEH .8 amrirdn

Lvophilic sols are more stable compared to lyophobic sols

HTrHOE rdHen HDrTFHE drde 08 OBy S Lot &odron
F &

Formation of micelles 1s possible only above Kraft temperature

ED WS 0B 805 LS G Srgd DG dS\dEb0 FEgHd S0

An example for a soap 1s sodinm stearate and an example for detergent is sodium
lauryl sulphate

rdofio Hokods Hans Govirdn, Fddbo 88 S8\ ALijolTi emrird

Question Number : 145 Question Id : 4557343825 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



In Ellingham diagram. the plot 1s drawn between

o

290N Hhoed* D Sy D@ Hied

Options :
Temperature . AH®

&3 E. AH®

Temperature . AG®

&S, AG®

Pressure . AS®

Tthe0 . AR

£

Fi -

Temperature . AE®
i, AE°

Question Number : 146 Question Id : 4557343826 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify the reaction which does not liberate N,
Ny S Defrdser Bl SdgSs HH50hsm
Options :
NaN; ——» 7
L A

(‘I\:H__t }2 (:11'20? T}' ?

NH,C/ +Ca(OH), —>?

iy

" BH(NE )2 T:?r}

Question Number : 147 Question Id : 4557343827 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify the molecule which contains lone pair of electrons on the sulphur atom

£ oy E|'q. T, —_ = . o -, e =
Eﬁr&:&ﬁ DEHDT0L) o) wotdd Q&}quﬁ 208 &) B Hiodod

Options :



H,S0s

H,5,04

L2

H;S,04

H,S0;

Question Number : 148 Question Id : 4557343828 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which statement about noble gases is not correct?

&) ¥ Troindoss Honohohld woredt HBGSH FIL JI6?

Options :
*Xe’ forms XeFg under suitable conditions

‘Xe’ oo J00S D0 é}@t XeFg o Qc’hﬁ: 363D

*Ar’1s used in electric bulbs

"Ar' S DogS ooy SHBIAT

The number of lone pair of electrons present on Xe m XeF,1s 3

XeF, ¢5° Xe s 2% 3 eobb -;JE‘_‘!-@‘:{E 20680T700

‘He’ has the highest boiling point among all the noble gases

=) &) Trodnde 508 ‘He'H edghs arfa&a;ﬁééﬁ ﬁ;é@ 0

Question Number : 149 Question Id : 4557343829 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Crystal field splitting energies for octahedral (A) and tetrahedral (A;) geometries caused
by the same ligands are related through the expression

w5 @S (Ag) 10080 BErIrES (A s8He Hofaren o8 Brrodod INBSHYEH
)58 B DefusdE Soworrd) Srdod JrE@hm
Options



i
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o
i

Question Number : 150 Question Id : 4557343830 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In Lanthanide series. the element well known to exhibit +4 oxidation state is

erodDBEBS", +4 s8)8dn 8D PHEh oS Phgds Hredo

FaT

Options :
1. Lu

Ce

[

; Pm

4, Nd

Question Number : 151 Question Id : 4557343831 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In anmionic polymerisation. the compound which acts as effective chain initiator is

sS05rE TOHEECnS” Perard s Hope rdodsor BT I

Options :
BF;

1.
, (CH;C0),0,
: SﬂClg

4, R-Li

Question Number : 152 Question Id : 4557343832 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Which one of the following is the structure of lactose ?

Eob i8¢ 26 88 DHoreard) Renddiodh?

Options :
CH,OH CH,OH
HO /| H OH
H H
H H o H
H H
1 OH OH H OH
CH,OH CH,0H
HO H H H
H H
OH H OH H
H OH
2 H OH H OH

3.
CH,OH CH,0H
HO “\ H H H
H
H N H
4 H OH H H

Question Number : 153 Question Id : 4557343833 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Which of the following statements are correct?

a)  Drugs that mimic natural messenger by switching on the receptor are called agonists
b)  Shape of the receptor does not change after attachment of chemical messenger

c) A cationic detergent is formed when stearic acid reacts with polyethylene glycol

d)  Seldane 1s an antthistamine

3

Bod 86" JBEE DBBoen JD?

o
P
oA
i j\

k.
sy
o)

rg SSrerd s @dEfoo FD (rirsd) 80hod Sodwd wod
Dtchiien wolrd

b) darohs SSrard aririo edE)S) dbhad ririo s550 Srd

c) QOHBE wdo, FORROI Es‘-‘@? SdgT ol SLoSris 5ol JB)EE08

d) TEES, RS IEH

Options :

L b.c

a.b.c

Question Number : 154 Question Id : 4557343834 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify the major products X and Y in the following reactions

ol Gdgees” PHEs edyonen XdHdodn Y o hiowhsn

: = '
2) ©/\ ﬂﬂ(
o _ HB o
S ol
b} Peroxide
: RTEHE

b4
<

Options :



o o7
o o

lo N o0

Question Number : 155 Question Id : 4557343835 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify A and B in the following reactions

A B

Options :

O w0
1 ’

O w0

Oaon -
3

O mee D
4,



Question Number : 156 Question Id : 4557343836 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify A. B and C in the following reactions

Bo& S6ges” AL B, C oy hioamn

NaOH " CuST3K  NaOI

Isopropyl chloride > A > B > C + Iodoform
o nSE D @& Fdad
A B i
Options :
, CH; CH,CH,OH CH; CH,CH,CHO CH; CH,COONa
, CH; CH,OH CH; CHO HCOONa
CH; —CH-CH; CH;COCH; CH;COONa
|
3 OH
CH,—-CH-CH-CH, H.0--C-0-Cl CH,COONa
. [
" OH OH O O

Question Number : 157 Question Id : 4557343837 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Match the following

List-1 List-1I
A) Lucasreagent I) SnCl,+HCLH;07
B) Clemunensen reagent II) [Ag(NH3)]"
C) Tollens reagent IIT) Anhydrous ZnCl, | cone. HC1
D) Stephenreaction IV) Zn-—Hg|conc. HC1

V) CgH:S0,Cl

Boh 7838 aa8Sdshdn

erdia -1 erdlar - 11
A) arsd sdso I) SnCl,+HCLH;0"
B) 3HIdI s°d¥o ) [Ag(NH3)[
C) &'Bq) 5680 I0T) La‘{g ZnCl, | ¢ HC1
D) awaeo @dg IV) Zn-Hg|m¢ HCI

) CgH:S0,Cl

The correct answer is

awt owd

‘éﬁ@m P BLIATI R B Y

A B € D
H W E 13

A B C D
oAl N I N

A
I8 W E ¥

o
®
w

Question Number : 158 Question Id : 4557343838 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



What are A. B and C i the following reactions?

8ol SEges® A.B. C o HBodswn

; ; Hiﬂgh t;mp_u_m:sm
Phthalic acid +NH; —> A —> > B SIS wip
98 w0
A B 18

Options :

&a oe _ ; : :
H4NDDC—@—CGGNH4 Hglwn::u:%j%mt*mm2 Nc@—m
1,
' o8 : .
@— CH, COONH, OCH; CONH, @E?H:CN

o : ;
@: COONH, CONH, (I CN
CH, CH, CH;4

~

3
o8 | fo)
_ COONH, CONH, _
| NH
S S -
COONH, CONH, |
4 O

Question Number : 159 Question Id : 4557343839 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



What are A and B in the following reaction sequence ?

H; 0

Propionitrile + A > B > propiophenone

§ob SorgEsr0s” ASoboin B o 207

+
@ORrZBS 1 A yB__H0 , @0@rddS
A B
Options :
NMgBr
| CEHSMgBr CH3CH1 —C— CEHS
NH
= CEHSI'VI;EBI CH3CH2CHE —C— C2H5
NMgBr
, CoHsMeBr CH,CH, —C—CgH;
N|H
4 C6H5CH3MgB1' £ H3 CHICHZ = o= CHE C’ﬁHg

Question Number : 160 Question Id : 4557343840 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

_ Hy/ C'a_tal}"st _
C"J_HSCJF ECN 1 X ﬁ:\?;i;iﬁﬁﬂ A {.Hﬂlg 5 ”

LY

4 alc. KOH
wep 785 KOH

What is *Z" in the above sequence of reactions?

D BHED SEgedt L eHsh 267
Options :

l.
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Date: 22-04-18 FN (Shift 1)

APEAMCET-2018
Engineering Stream Preliminary Key

Q.No. | Answer Q.No. | Answer Q.No. | Answer Q.No. | Answer
1 4 41 4 81 1 121 3
2 4 42 3 82 4 122 2
3 4 43 4 83 3 123 1
4 3 44 2 84 4 124 1
5 4 45 2 85 4 125 3
6 1 46 3 86 2 126 3
7 4 47 3 87 1 127 4
8 1 48 3 88 1 128 1
9 4 49 4 89 4 129 3
10 4 50 3 90 2 130 1
11 2 S1 2 91 1 131 4
12 1 52 4 92 4 132 2
13 1 53 2 93 1 133 3
14 1 54 1 94 3 134 2
15 2 55 3 95 2 135 3
16 2 56 1 96 3 136 2
17 3 S7 4 97 4 137 3
18 3 58 2 98 2 138 1
19 4 59 2 99 1 139 4

20 2 60 1 100 3 140 2
21 4 61 4 101 3 141 2
22 3 62 2 102 1 142 3
23 2 63 2 103 1 143 2
24 4 64 1 104 4 144 1
25 1 65 4 105 1 145 2
26 3 66 4 106 4 146 3
27 2 67 2 107 1 147 4
28 4 68 1 108 2 148 4
29 2 69 4 109 3 149 2
30 4 70 4 110 4 150 2
31 1 71 2 111 1 151 4
32 2 72 3 112 3 152 3
33 2 73 3 113 1 153 3
34 2 74 4 114 1 154 3
35 1 75 2 115 3 155 2
36 3 76 4 116 1 156 3
37 2 77 4 117 4 157 1
38 2 78 1 118 1 158 4
39 2 79 3 119 3 159 3
40 2 80 4 120 3 160 1
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